The fourth weekend of August 2016 marked the 18th running of the Ohio QSO Party under the revival and sponsorship of the Mad River Radio Club. Unfortunately after several years of good conditions, we were hit with a double whammy this year. The first, declining solar flux, while predictable, had the effect of rendering 40 meters difficult for QSOs within Ohio and from nearby states. Out of state low power winner Keith, WA3HAE, operating from the Pittsburgh area, made five QSOs on 40 and then spent the rest of the contest on 80. Twenty meters was likewise less than what we've enjoyed in recent years.

The second whammy was thunderstorms. Mid-afternoon storms caused many to take the prudent action of shutting down while the storms passed, while others suffered through high levels of QRN. The effect of these storms is shown in the hourly QSO numbers:

1600Z	2955
1700Z	2989
1800z	2519
1900Z	1842
2000Z	1695
2100Z	1874
2200Z	1838
2300Z	2374
0000Z	2999
0100Z	3421
0200Z	3063
0300Z	2361

As the storms passed and 80 meters opened up, activity picked up. Nevertheless the QSO totals were down significantly from 2015:

20 ====)16 REP(=====	ORTED (======	QSOS PI	ER BAN	ID AN	D MODE	2015 =====	REPOI	RTED QS ======	OS PER ======	BAND	AND N =====	MODE =====
_	80	40	20	15	10	Total		80	40	20	15	10	Total
CW: SSB:	5862 6166		2622	133 8	9	14493 15585	• • • • • • • • • • • • • • • • • • • •	6293 6651	11599 9427	5934 4567	512 145	16 8	24354 20798
JJD. 		0493 12360	2915 5537	o 141	3 12	30078		0031 12944			145 657	o 24	45152
	12020	12300	3337	141	12	30076	'	12344	21020	10301	057	24	43132

But in spite of less than optimal conditions, lots of QSOs were made and lots of fun was had. The category winners included a mix of long time champions and newcomers to the winner's circle. In Ohio, Bob Hayes, KW8N, continued his steak of single operator high power victories. Jim Galm, W8WTS, who has won the low power category several times from the big K8AZ contest station, stayed at home (still in Geauga county) to again win the low power award. Paul Hurm, N8OT, a QRP regular in OhQP, claimed the top QRP honor in 2016. Recent Multiop champ K8DV took the year off, but the K8T team of WA3C and W3NO in

Jefferson county picked up the slack with a super operation. The Ashtabula county club activated their Emergency Operation Center station, K8CY, to take first place in the relatively new EOC category. Out in the fields and roads, K8MR with K8BL driving, activated 30 counties in central Ohio in winning the mobile category. Tom Williams, N2CU, drove down from western New York to activate some of the most remote and rugged counties in southeast Ohio, and earned the Rover plaque for his efforts. The single mode awards went to Vic Kean, K1LT, of Fairfield county for CW, and to Karen Moak, KM8Q, of Champaign county, for SSB.

From outside Ohio, Dick VanZandt, K9OM, the low power winner in 2015, turned on the amplifier to win the out of state single operator high power award. Keith Pederson, WA3HAE, a QSO party stalwart, pounded away on 80 meters to win the low power award. Dave Edmonds, WN4AFP, was a first time winner of the QRP award. Perhaps reflecting the poor conditions, for the first time the DX winner was not from Europe: transplanted Buckeye Steve Morton, AA8HH, operating as TI8/AA8HH from his Costa Rican retirement QTH. Steve ran low power, as an amplifier on order ended up in Costa Rican customs hell, where at last report it still is stuck six months later. Larry Lewis, KORI, repeats as winner of the plaque for the Mountain/Pacific time zone.

The North Coast Contesters took the Ohio club honors, anchored by the three mobile and rover entries. The Florida Contest Group was the top out of state club, with an out of state high of eleven entries, led by top out of state entry K9OM, operating from his summertime QTH in Wisconsin.

You may wish to check out some photos from the 2016 Ohio QSO Party on the OhQP web site, www.ohqp.org, under the "Photos" tab. For 2017, please take some time to get a few shots of your operation, and send them to photos@ohqp.org. We enjoy seeing who it was that came to the party!

Certificates for the 2016 (and previous) Ohio QSO Party can be generated and printed from the OhQP web site, www.ohqp.org, under "Certificates".

And again thanks to the OhQP crew: chairman and results editor Jim, K8MR; log checker and web guru Tim, K9TM; activity whip Dan, W8CAR; moneyman and MRRC treasurer K1LT; and plaque provider Everett, WZ8P, of the Franklin Printing Company of Zanesville. And most of all, to all of you who took part in the 2016 OhQP! We hope to see you all back in 2017, bringing along some new friends, on Saturday, August 26.

Since 1999, the Ohio QSO Party has been sponsored by the Mad River Radio Club, a group of Ohio and Michigan hams interested in contesting. More information on the club can be found on the club's website, www.madriverradioclub.org. We will also be at the Dayton Hamvention, at the club's "Suite In The Sun" in the flea market area. With the changes at the Hamvention, we don't know exactly where we will be, but look for the MRRC banner, and take a few moments to stop and say hello!

And make your plans now for the 2017 OhQP, or at least get it on the calendar so you or your spouse won't be making other plans for that day!

The 2016 Ohio QSO Party

Ohio Single Operator High Power

CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	QTH
KW8N	1012	205	350	90	662	115	279,210	LORA
K8MP	485	160	302	81	183	79	125,920	DELA
W8CAR	485	155	325	80	160	75	125,550	ERIE
K1LT	501	101	501	101	0	0	101,202	FAIR
KE8G	434	128	313	77	121	51	95,616	CUYA
KM8Q	710	109	0	0	710	109	77,390	CHAM
N8BJQ	361	103	343	87	18	16	72,512	CHAM
KC8QDQ	568	109	0	0	568	109	61,912	ATHE
KE8M	301	89	301	89	0	0	53,578	HURO
WT8C	406	113	35	24	371	89	49,833	LAKE
WX8G	491	98	0	0	491	98	48,118	SCIO
K8ND	249	89	234	75	15	14	42,987	DELA
KC8QDP	310	99	0	0	310	99	30,690	ATHE
N8SDR	311	80	0	0	311	80	24,880	BUTL
W3HKK	137	77	99	50	38	27	18,172	LICK
W8KEN	180	65	0	0	180	65	11,700	GEAU
W8DPK	151	69	0	0	151	69	10,419	MADI
N8PCN	152	58	0	0	152	58	8,816	VANW
AK8H	100	48	0	0	100	48	4,800	SUMM
W9RAR (KB9UIY op)	78	51	0	0	78	51	3,978	GREE
KC8RLP	106	32	0	0	106	32	3,392	MARI
N8GU	47	35	46	34	1	1	3,255	MADI

2017 Ohio QSO Party - Saturday, August 26 Noon to Midnight EDST 1600z August 26 to 0400z August 27

Ohio Single Operator Low Power

CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	QTH
W8WTS	445	169	278	89	167	80	122,187	GEAU
K8NVR	420	157	208	74	212	83	98,596	MEDI
KI8R	427	87	427	87	0	0	74,298	FAIR
W8TM	325	122	255	73	70	49	70,760	HAMI
AJ8B	300	128	173	62	127	66	60,544	WARR
K8ROX	368	136	75	44	293	92	60,248	CRAW
K4YJ	263	126	185	73	78	53	56,448	PIKE
K8BTU	354	78	354	78	0	0	55,224	DELA
WU8R	224	111	124	52	100	59	38,628	JACK
K8AJS	200	83	160	52	40	31	29,880	WAYN
NO8C	184	83	150	52	34	31	27,722	PUTN
WB8JUI	205	57	204	56	1	1	23,313	SENE
W8JPF	203	55	203	55	0	0	22,330	FRAN
W8IQ	124	80	100	58	24	22	17,920	LUCA
K8MAD (W1NN op)	135	60	134	59	1	1	16,140	MEDI
N8BHL	141	90	37	27	104	63	16,020	DELA
N8JK	120	73	93	49	27	24	15,549	HENR
K9NW	116	70	100	56	16	14	15,120	BUTL
N8CWU	200	74	0	0	200	74	14,800	FRAN
WA8KIW	184	79	0	0	184	79	14,536	CLIN
WB8YLO	114	59	114	59	0	0	13,452	LUCA
KE8ANS	161	75	0	0	161	75	12,075	KNOX
N8VV	110	51	110	51	0	0	11,220	COSH
W8RGE	145	68	0	0	145	68	9,860	STAR
KD8AJK	132	68	0	0	132	68	8,976	ERIE
N8RAC	149	59	0	0	149	59	8,791	PUTN
KV8P	107	65	26	22	81	43	8,645	LUCA
K9CAV	123	65	1	1	122	64	8,060	MONT
WA8YVF	90	67	23	19	67	48	7,571	CUYA
KD8MQ	121	61	3	3	118	58	7,564	STAR
N2OPW	81	50	43	24	38	26	6,200	DELA
AC8RV	97	59	0	0	97	59	5,723	GEAU
K8MLT	98	58	0	0	98	58	5,684	TUSC
KD8ORN	95	59	0	0	95	59	5,605	HOCK
AA8GP	91	58	0	0	91	58	5,278	CLER
N8MPF	90	58	0	0	90	58	5,220	CUYA
W8KVK	88	59	0	0	88	59	5,192	ATHE
W5UHQ	82	51	13	10	69	41	4,845	LICK
KC8IMB	88	54	0	0	88	54	4,752	PIKE

W8WZZ	87	54	0	0	87	54	4,698	FAIR
NS8O	63	50	30	21	33	29	4,650	MEIG
W8IDM	60	31	60	31	0	0	3,720	CUYA
N8BV	77	47	0	0	77	47	3,619	HAMI
W8RF	56	45	20	17	36	28	3,420	LUCA
NR8U	68	47	0	0	68	47	3,196	LICK
KC8YKQ	58	43	0	0	58	43	2,494	VANW
N8BUS	101	24	0	0	101	24	2,424	HOCK
N8UVM	59	40	0	0	59	40	2,360	VINT
AA8DC	65	34	0	0	65	34	2,210	PREB
AC8E	44	34	11	10	33	24	1,870	MEDI
AE8I	51	35	0	0	51	35	1,785	MIAM
AB8OU	46	37	0	0	46	37	1,702	SUMM
N8ET	41	20	41	20	0	0	1,640	HANC
W4YPW	47	31	0	0	47	31	1,457	MONT
KR5N	44	33	0	0	44	33	1,452	WASH
W8TAH	45	30	0	0	45	30	1,350	MEDI
KA8OAD	39	32	0	0	39	32	1,248	SUMM
KC8UR	28	21	28	21	0	0	1,176	KNOX
W8KNO	27	26	13	13	14	13	1,040	PORT
W8ENO	37	24	0	0	37	24	888	SCIO
N8REQ	26	25	0	0	26	25	650	LAKE
K8IKO	33	18	0	0	33	18	594	CARR
KA8SBI	25	23	0	0	25	23	575	PREB
K8SRB	19	16	1	1	18	15	320	HARD
KC8TCQ	14	13	0	0	14	13	182	HENR
WD8PHL	13	12	0	0	13	12	156	FAYE
N8DRG	13	10	0	0	13	10	130	MONT
KB8KLK	9	8	0	0	9	8	72	LUCA
KE8BWA	11	4	0	0	11	4	44	PORT
W8PN	3	3	3	3	0	0	18	CUYA
KE8EAS	5	3	0	0	5	3	15	ATHE
K8YR	3	3	0	0	3	3	9	PREB
AC8VM	0	0	0	0	0	0	0	DELA

2017 Ohio QSO Party - Saturday, August 26 Noon to Midnight EDST 1600z August 26 to 0400z August 27

Ohio Single Operator QRP

CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	QTH		
N8OT	150	94	100	56	50	38	23,500	BUTL		
K9TM	144	84	95	43	49	41	20,076	LUCA		
W8JH	77	55	65	44	12	11	7,810	OTTA		
WT8E	75	59	25	23	50	36	5,900	ATHE		
N8YN	80	56	0	0	80	56	4,480	SCIO		
N8MWK	82	51	0	0	82	51	4,182	MORG		
K8ZT	38	18	27	14	11	4	1,170	SUMM		
NE9KM	29	22	0	0	29	22	638	FULT		
	Ohio Rover									
CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	CTYs		
N2CU	325	87	277	61	48	26	52,374	8		
		C	Ohio Mo	bile						
CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	CTYs		
K8MR (+ K8BL)	840	88	806	73	34	15	144,848	30		
K8NZ (+ KC8FOD)	344	64	325	58	19	6	42,816	13		
,							•			

2017 Ohio QSO Party - Saturday, August 26 Noon to Midnight EDST 1600z August 26 to 0400z August 27

Ohio Multioperator

CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	QTH
K8T	1187	205	489	99	698	106	343,580	JEFF
NF8O W8KTQ	462 458	174 151	258 278	92 80	204 180	82 71	125,280 111,136	HOLM DELA
NI8Z W8OH	519 602	147 111	193 0	75 0	326 602	72 111	104,664 66,822	CUYA HIGH
K8PI	339	125	155	55	184	70	61,750	WARR
K8BF W8DGN	397 231	119 98	119 135	42 57	278 96	77 41	61,404 35,868	PORT GREE
K8CR N4HAI	182 146	75 82	58 16	27 15	124 130	48 67	18,000 13,284	CLER LOGA
W8WRK	158	75	19	13	139	62	13,275	BUTL
W8AJT N8YWX	91 66	49 51	0	0	91 66	49 51	4,459 3,366	BUTL ADAM
KD8TIG	23	21	0	0	23	21	483	PUTN
KE8RV	13	11	0	0	13	11	143	MADI

Operators

K8T	WA3C W3NO
NF8O	NF8O K8FH
W8KTQ	W8KTQ N3FF
NI8Z	NI8Z W8MET KD8NBB K8SHB AC8TN N8LRS N8TC
W8OH	K8IYO KC8OKJ
K8PI	KD8W N8HP KF8QS N8YFQ W8ISZ
K8BF	KB8UUZ W5OV N8BI K8CAV N8QE NR8W KB8AMZ
	KB8TUY WA4WGA WB9LBI WA8CCU W8PT
W8DGN	W8ASA K9DAC KM8AM KD8JQE KD8NUC
K8CR	K8DV K8CR
N4HAI	N4HAI N4DLR SETH
W8WRK	K8CLC KD8ULV W8MRL KE8CIE
W8AJT	KD8RLA WB8TCB N8SDR KE8BWQ WD8DER KD8SES
N8YWX	N8YWX WB8IOW
KD8TIG	KD8TIG KE8BTS KE8CJJ
KE8RV	N8GU W5KBW W8DPK

Ohio Emergency Operations Center Stations

CALL	QSOs	Mults	CW Q	CW M	PH Q	PH M	SCORE	QTH
K8CY	137	55	119	49	18	6	14,080	ASHT
K8FAY	159	74	0	0	159	74	11,766	FAYE
KE8EWY	103	37	0	0	103	37	3,811	UNIO
K8EMA	68	45	0	0	68	45	3,060	SHEL
W8EOC	51	34	24	17	27	17	2,550	MEDI
W8DES	56	31	0	0	56	31	1,736	GEAU

Operators

K8CY KC8FNJ KC8KEB N8OHU KE8EPD K3YP

K8FAY N8ORJ **KE8EWY** KE8EWY **K8EMA** K8EMA

W8EOC K8TV W8TWL KD8SST KD8UJG KE8COJ

W8DES KD8TWG

2017 Ohio QSO Party - Saturday, August 26
Noon to Midnight EDST 1600z August 26 to 0400z August 27

Out of State Single Operator High Power

CALL	QSOs	Mults	CW Q	CW M	PH Q	РН М	SCORE	QTH
K9OM	306	129	146	65	160	64	58,308	WI
KU8E	244	115	108	55	136	60	40,480	GA
K4MM	125	67	106	50	19	17	15,477	FL
K4BAI	112	68	70	38	42	30	12,376	GA
AD8J	104	68	65	39	39	29	11,492	NC
W2RR (WA2AOG op)	100	60	70	41	30	19	10,200	NY
WX4G	93	57	66	37	27	20	9,063	FL
K3WJV	94	45	94	45	0	0	8,460	PA
K6DGW	66	40	66	40	0	0	5,280	NV
KJ9C	72	39	59	29	13	10	5,109	MT
DK2OY	54	44	47	38	7	6	4,444	DX
DM5EE	59	36	46	27	13	9	3,780	DX
K0LUZ	46	34	38	27	8	7	2,856	FL
K0ZR	51	27	51	27	0	0	2,754	VA
K9SE	49	35	21	14	28	21	2,450	IL
KG6MC	42	35	26	20	16	15	2,380	SC
W2UDT	41	30	24	17	17	13	1,950	NJ
NS9I	30	24	30	24	0	0	1,440	WI
AA0A	39	31	0	0	39	31	1,209	MO
N1NN	31	19	31	19	0	0	1,178	MA
K4WW	30	24	19	16	11	8	1,176	KY
SM5CIL (SM7CIL op)	26	22	26	22	0	0	1,144	DX
K0RJW	31	26	0	0	31	26	806	MN
AF4RK	25	21	13	11	12	10	798	FL
WC7Q	22	17	22	17	0	0	748	WA
KJ5MA	29	23	0	0	29	23	667	TX
W4FF (AA4GT op)	26	23	2	2	24	21	644	FL
N3KN	21	19	10	9	11	10	589	VA
W8JRK	20	18	10	8	10	10	540	MI
NM5Z	18	16	13	11	5	5	496	MS
KM6I	19	13	19	13	0	0	494	CA
N0DOW	21	14	0	0	21	14	294	MN
VE2GT	16	14	0	0	16	14	224	QC
W6NS	11	10	11	10	0	0	220	CA
N9NA	8	8	8	8	0	0	128	ΑZ
NS4X	8	8	5	5	3	3	104	TN
N5WVR	7	7	0	0	7	7	49	VT
S58MU	4	4	3	3	1	1	28	DX
K4SBZ	5	5	0	0	5	5	25	FL

Out of State Single Operator Low Power

CALL	QSOs	Mults	CW Q	CW M	PH Q	РН М	SCORE	QTH
WA3HAE	202	118	96	60	106	58	35,164	PA
K0RI	180	89	131	56	49	33	27,679	CO
K2ZR	126	74	85	46	41	28	15,614	NY
W3CQB	127	77	70	38	57	39	15,169	PA
K8CC	118	75	58	37	60	38	13,200	MI
WA8ZBT	104	53	89	43	15	10	10,229	TX
WA5SOG	104	55	78	35	26	20	10,010	AR
NA3V	97	56	60	31	37	25	8,792	PA
WO9B	87	49	63	30	24	19	7,350	WI
N9NM	80	39	80	39	0	0	6,240	TX
KM4FO	70	38	70	38	0	0	5,320	KY
WA8OJR	66	39	66	39	0	0	5,148	SC
TI8/AA8HH	66	38	65	37	1	1	4,978	DX
K8BKM	70	48	32	20	38	28	4,896	MI
K0TC	66	37	66	37	0	0	4,884	MN
N8EA	61	48	39	29	22	19	4,800	MI
KN4Y	62	38	62	38	0	0	4,712	FL
K4ORD	67	35	67	35	0	0	4,690	VA
K0MPH	63	37	60	34	3	3	4,551	MN
WN8P	60	35	60	35	0	0	4,200	MI
WA9LEY	61	33	61	33	0	0	4,026	IL
N2CQ	50	40	48	38	2	2	3,920	NJ
K8GT	58	34	57	33	1	1	3,910	MI
W8FN	53	42	39	29	14	13	3,864	TX
K4BSK	57	33	57	33	0	0	3,762	NC
K2MV	50	40	18	15	32	25	2,720	NY
K2QB	46	29	46	29	0	0	2,668	NY
AB9CA	48	27	48	27	0	0	2,592	AL
K4WDR	63	41	0	0	63	41	2,583	GA
N3CKI	43	34	30	22	13	12	2,482	VA
W3PR	46	37	21	14	25	23	2,479	NJ
NF8M	36	31	28	23	8	8	1,984	MI
N4DW	36	26	36	26	0	0	1,872	TN
W1END	36	24	36	24	0	0	1,728	NH
KG9JP	49	35	0	0	49	35	1,715	WI
K2CYE	35	22	35	22	0	0	1,540	NY
W2GR	31	26	22	17	9	9	1,378	NY
N5PHT	28	24	28	24	0	0	1,344	MO
K3URT	38	30	6	6	32	24	1,320	PA

CALL	QSOs	Mults	CW Q	CW M	PH Q	РН М	SCORE	QTH
W8CAG	27	24	27	24	0	0	1,296	MI
K9PG	32	26	17	11	15	15	1,274	IL
WG8Y	30	24	21	16	9	8	1,224	NC
KM2L	29	22	22	17	7	5	1,122	NY
KD5ILA	40	27	0	0	40	27	1,080	AR
W4DUK	38	27	0	0	38	27	1,026	VA
K8ARY	27	24	15	12	12	12	1,008	SC
VA3EC	22	18	22	18	0	0	792	ON
W4JUU	25	21	9	9	16	12	714	TN
K5HP	21	16	21	16	0	0	672 570	TX
W8OV	19	15 21	19	15	0	0	570	TX
KD0CVZ K4AMA	27	21 20	0 5	0 4	27	21	567 560	MN SC
K7ZYV	23 17	20 16	5 17	16	18 0	16 0	560 544	MS
K2PS	20	15	17	10	5	5	544 525	FL
N8PPF	25 25	20	0	0	25	20	500	NC
K2KW	17	15	16	14	1	1	495	VA
N0AC	16	15	16	15	0	0	480	CO
N2SO	17	14	17	14	0	0	476	NY
K4VBM	27	17	0	0	27	17	459	GA
N4LZ	19	15	11	8	8	7	450	FL
NA4K	17	13	17	13	0	0	442	TN
K2HT	18	17	6	6	12	11	408	MO
VE7JH	17	12	15	10	2	2	384	ВС
KA4AQM	20	17	0	0	20	17	340	VA
ND3R	14	10	14	10	0	0	280	PA
NM5WB WA0TTS (KC0DDZ	18	15	0	0	18	15	270	NM
op)	17	14	0	0	17	14	238	MO
N0KTK	13	13	0	0	13	13	169	MO
W7GF	10	8	10	8	0	0	160	OR
KE3ZT	13	12	0	0	13	12	156	PA
W9TC	9	8	9	8	0	0	144	IN
NX4N	9	7	9	7	0	0	126	FL
N9BT	11	11	0	0	11	11	121	IL
K6KQV	7	7	6	6	1	1	91	CA
KD0HTS	9	9	0	0	9	9	81	CO
KM4HVE	9	9	0	0	9	9	81	TN
W4WNT	7	7	4	4	3	3	77	NC
WA3AAN	6	6	6	6	0	0	72	PA
W2VM	5	5	5	5	0	0	50	NY
YU1RA	5	5	5	5	0	0	50	DX
K4WLG	7	7	0	0	7	7	49	KY

CALL	QSOs	Mults	CW Q	CW M	PH Q	РН М	SCORE	QTH
KB7N	5	4	5	4	0	0	40	WA
KC5DCT	6	6	0	0	6	6	36	TX
N5MKY	6	6	0	0	6	6	36	MI
WZ6ZZ	6	6	0	0	6	6	36	CA
W6NF	4	4	4	4	0	0	32	MN
K1AUS	5	5	0	0	5	5	25	MT
KC3ASH	5	5	0	0	5	5	25	MD
KQ6P	5	5	0	0	5	5	25	CA
AB4TT	3	3	0	0	3	3	9	GA
KT4LS	3	3	0	0	3	3	9	GA
NU4M	1	1	1	1	0	0	2	GA
AB7WP	1	1	0	0	1	1	1	ΑZ
KA3PMW	1	1	0	0	1	1	1	PA
KB7PVU	1	1	0	0	1	1	1	NM
KE6FNQ	1	1	0	0	1	1	1	OR
TA4AKS	1	1	0	0	1	1	1	DX
WM5F	1	1	0	0	1	1	1	ID

Out of State Single Operator QRP

			CW	CW				
CALL	QSOs	Mults	Q	M	PH Q	PH M	SCORE	QTH
	400						40.000	
WN4AFP	126	86	95	59	31	27	19,006	SC
K3TW	112	65	86	45	26	20	12,870	FL
WE5EE	102	59	67	35	35	24	9,971	LA
K4YND	85	53	65	37	20	16	7,950	VA
KE0TT	65	36	65	36	0	0	4,680	MN
KC4ZA	41	24	41	24	0	0	1,968	VA
W9PRS	30	22	0	0	30	22	660	WI
K8CN	20	15	20	15	0	0	600	NH
W5/MM0LID	17	17	3	3	14	14	340	TX
KI4FW	11	11	11	11	0	0	242	VA
KI4MZC	11	9	11	9	0	0	198	GA
VA3PCJ	10	9	5	4	5	5	135	ON
WB0IWG	9	8	0	0	9	8	72	ND
AC2RJ	2	2	2	2	0	0	8	NY
W4VG	2	2	2	2	0	0	8	VA
WD8OUX	1	1	1	1	0	0	2	GA

Out of State Single Operator Multioperator

			CW	CW				
CALL	QSOs	Mults	Q	M	PH Q	PH M	SCORE	QTH
K0AMC	154	66	0	0	154	66	10,164	MO
AC7T	81	41	63	28	18	13	5,904	WA
WN7Y	16	12	0	0	16	12	192	MT

Operators

CALL

KOAMC CLUB

AC7T AC7T W7GKF

WN7Y WN7Y KI7EQB KF7WXR KF7RBA WA7ARD KI7GAE

Ohio Club Scores

CLUB	TOTAL	ENTRIES
NORTH COAST CONTESTERS	537,608	6
DELAWARE AMATEUR RADIO ASSOCIATION	393,101	
MEDINA 2 METER GROUP	236,106	
MAUMEE VALLEY CONTEST CLUB	133,754	
SUNDAY CREEK AMATEUR RADIO FEDERATION	114,901	
BELLBROOK AMATEUR RADIO CLUB	113,388	3
PORTAGE COUNTY AMATEUR RADIO SERVICE	70,052	4
DIAL RADIO CLUB	61,750	1
SOUTH EAST CONTEST CLUB	56,448	1
SOUTHWEST OHIO DX ASSOCIATION	48,669	
OTTAWA AREA RADIO CLUB	36,996	
HAMILTON AMATEUR RADIO CLUB	29,339	
JOHN D. KRAUS MEMORIAL AMATEUR RADIO CLUB	23,500	
CENTRAL OHIO OPERATORS KLUB EXTRA NOVICE	23,017	
HIGHLAND AMATEUR RADIO ASSOCATION	19,288	
ASHTABULA COUNTY AMATEUR RADIO CLUB	14,080	
MADISON COUNTY AMATEUR RADIO CLUB	13,817	
BUTLER COUNTY ARA	13,275	
FAYETTE AMATEUR RADIO ASSOCIATION	11,766	
COSHOCTON COUNTY AMATEUR RADIO ASSOCATION	11,220	
MILFORD OHIO ARC	5,278	
WEST PARK RADIOPS	5,088	
OHKYIN AMATEUR RADIO SOCIETY	3,619	
CENTRAL OHIO CONTEST ASSOCIATION	3,196	
PREBLE ARA	2,794	
VAN WERT AMATEUR RADIO CLUB	2,494	
GEAUGA AMATEUR RADIO ASSOCIATION	1,736	
MARIETTA AMATEUR RADIO CLUB	1,452	1

Out of State Club Scores

CLUB	TOTAL	ENTRIES
FLORIDA CONTEST GROUP	105,210	11
SOUTH EAST CONTEST CLUB	66,940	4
NIAGARA FRONTIER RADIOSPORT	31,032	6
MAD RIVER RADIO CLUB	22,896	
SWAMP FOX CONTEST GROUP	21,946	3
DFW CONTEST GROUP	14,093	2
FRANKFORD RADIO CLUB	13,342	
MINNESOTA WIRELESS ASSN	10,241	
ANCIENT MODULATORS CLUB	10,164	1
FORT SMITH ARC	10,010	
SOCIETY OF MIDWEST CONTESTERS	8,977	4
BAVARIAN CONTEST CLUB	8,224	2
WEST ALLIS RAC	7,350	
CENTRAL TEXAS DX AND CONTEST CLUB	6,912	
KENTUCKY CONTEST GROUP	6,496	
NORTHERN CALIFORNIA CONTEST CLUB	5,865	
POTOMAC VALLEY RADIO CLUB	5,774	3
METRO DX CLUB	4,026	
GLOUCESTER COUNTY ARC	3,920	
SOUTHEASTERN MICHIGAN DX ASSN	3,910	
YANKEE CLIPPER CONTEST CLUB	2,328	
TENNESSEE CONTEST GROUP	2,314	
FOX CITIES ARC	1,715	
CAROLINA DX ASSOCIATION	1,085	2
CONTEST CLUB ONTARIO	792	
WESTERN WASHINGTON DX CLUB	748	
FLORIDA FARM	644	
GEORGIA CONTEST GROUP	459	
TEXAS DX SOCIETY	340	
CONTEST GROUP DU QUEBEC	224	
ARIZONA OUTLAWS CONTEST CLUB	128	
RADIO AMATEURS OF NORTHERN VERMONT	49	1

Plaque Winners

Category	Winner	Sponsor
Ohio Single Op High Power	KW8N	Mad River Radio Club
Ohio Single Op Low Power	W8WTS	Portage Co. Am. Radio Service
Ohio Single Op QRP	N8OT	Northern Ohio QRP Club
Ohio Multioperator	К8Т	Geauga Amateur Radio Assn.
Ohio Rover	N2CU/R	Delaware Amateur Radio Assn.
Ohio Emergency Op. Center	к8СҮ	Radio Society of Ohio
Out of State S.O. High Power	к90М	COOKEN
Out of State S.O. Low Power	WA3HAE	Sean Fleming, K8KHZ
Out of State S.O. QRP	WN4AFP	Lake Co. Amateur Radio Assn.
Mountain/Pacific Time Zone	KORI	Canton Radio Club
Ohio CW	K1LT	Chuck Patellis, W8PT
Ohio SSB	KM8Q	Muskingum Ham Radio Club
Single Operator, DX	TI8/AA8HH	Northern Ohio DX Association

Activity by Ohio County

County	Total	CW	SSB	County	Total	CW	SSB
ADAM	93	17	76	LICK	237	110	127
ALLE	62	54	8	LOGA	118	31	87
ASHL	59	32	27	LORA	464	248	216
ASHT	98	95	3	LUCA	408	257	151
ATHE	438	51	387	MAHO	152	56	96
AUGL	37	26	11	MADI	133	48	85
BELM	48	45	3	MARI	71	44	27
BROW	8	8	0	MEDI	415	247	168
BUTL	488	169	319	MEIG	66	38	28
CARR	40	23	17	MERC	0	0	0
CHAM	368	213	155	MIAM	130	1	129
CLAR	47	25	22	MONR	18	16	2
CLER	153	52	101	MONT	150	7	143
CLIN	218	25	193	MORG	84	1	83
COLU	58	52	6	MORR	41	31	10
COSH	82	60	22	MUSK	93	20	73
CRAW	195	74	121	NOBL	94	25	69
CUYA	841	431	410	OTTA	70	56	14
DARK	2	0	2	PAUL	0	0	0
DEFI	24	3	21	PERR	25	24	1
DELA	1057	759	298	PICK	18	17	1
ERIE	348	184	164	PIKE	296	147	149
FAIR	588	537	51	PORT	218	101	117
FAYE	88	1	87	PREB	45	0	45
FRAN	322	192	130	PUTN	198	93	105
FULT	20	0	20	RICH	39	6	33
GALL	13	13	0	ROSS	44	13	31
GEAU	421	193	228	SAND	12	5	7
GREE	379	248	131	SCIO	320	54	266
GUER	67	56	11	SENE	183	133	50
HAMI	312	183	129	SHEL	72	19	53
HANC	46	44	2	STAR	269	67	202
HARD	32	18	14	SUMM	196	66	130
HARR	46	42	4	TRUM	93	63	30
HENR	104	66	38	TUSC	126	42	84
HIGH	190	0	190	UNIO	43	16	27
HOCK	128	30	98	VANW	141	38	103
HOLM	289	184	105	VINT	52	11	41
HURO	204	200	4	WARR	374	216	158
JACK	186	110	76	WASH	128	2	126
JEFF	438	253	185	WAYN	163	107	56
KNOX	254	136	118	WILL	32	11	21
LAKE	205	51	154	WOOD	21	11	10
LAWR	22	19	3	WYAN	17	16	1

Activity by State – Province - DX

QTH	Total	CW	SSB	QTH	Total	CW	SSB
CT	79	38	41	NV	96	58	38
MA	169	100	69	OR	64	23	41
ME	38	6	32	UT	81	26	55
NH	101	72	29	WA	248	149	99
RI	12	2	10	WY	66	6	60
VT	27	1	26	MI	757	410	347
NJ	360	175	185	WV	227	152	75
NY	755	354	401	IL	634	272	362
DE	72	5	67	IN	182	98	84
MD	218	87	131	WI	734	368	366
PA	1237	655	582	CO	393	144	249
AL	172	61	111	IA	101	21	80
FL	852	492	360	KS	621	180	441
GA	670	253	417	MN	469	286	183
KY	253	110	143	MO	513	187	326
NC	548	221	327	NE	69	38	31
SC	363	207	156	ND	28	0	28
TN	469	232	237	SD	52	27	25
VA	787	457	330	NS	5	0	5
AR	325	145	180	QC	37	1	36
LA	185	96	89	ON	180	67	113
MS	140	40	100	MB	27	1	26
NM	97	9	88	SK	4	0	4
OK	111	10	101	AB	10	0	10
TX	1075	532	543	BC	43	16	27
CA	378	174	204	NWT	1	1	0
HI	41	16	25	NB	10	0	10
AK	12	2	10	PEI	0	0	0
ΑZ	162	36	126	NL	0	0	0
ID	49	17	32	DX	445	286	159
MT	135	70	65				

Soapbox

PART TIME EFFORT, 20M WAS IN GREAT SHAPE LATE. - DM5EE

"MANY THANKS AGAIN FOR ANOTHER ENJOYABLE OHIO QSO PARTY. AS USUAL, THE MOBILE STATIONS DID A GREAT JOB COVERING MANY COUNTIES. DISTURBED BAND CONDITIONS SEEMED TO PRECLUDE ACTIVITY ON THE HIGHER BANDS WHICH USUALLY PROVIDE MANY QSOS HERE."

- K3TW

WOULD LIKE TO HAVE SEEN MORE OHIO STATIONS ON 20 METERS.

- K4SBZ

ENJOYED MY 1ST OHOP CONTEST!

- K4VBM

DELAYED 2 HOURS DUE TO THE WIFE NEEDING TO GO SHOPPING.

- K4YJ

ALL S&P

- K5HP

PORTAGE COUNTY AMATEUR RADIO SERVICE (PCARS) IN RAVENNA, OHIO - K8BF

 $40\,\text{m}$ was junk from michigan the entire contest, but $80\,\text{m}/75\,\text{m}$ was a blast! Thanks to all the ohio stations who called in.

- K8CC

HAD GREAT TIME, N8YFQ, W8ISZ & N8HP HAD MOST CONTACTS & LASTED LONGEST TIME! THIS YEAR WE OPERATED FROM N8YFQ'S QTH.

- K8PI

BAND CONDX NOT THE BEST

- K8ROX

SORRY TO REPORT THAT MOST OF THE K8RYU/R ROVER OPERATION HAD TO BE ABORTED. WE WERE TRAVELING ON OH 93 GOING SOUTH TOWARD LAWR, WHEN WE SLOWED DOWN TO CROSS SOME RAILROAD TRACKS THE VAN BRAKES FAILED. THANKS TO THE SKILLS OF MILITARY TRAINED KC8CWV WE WERE ABLE TO GET HOME FROM THERE AT VERY LOW SPEED AND ALL SURVIVED. THE VAN IS IN A PARKING LOT HERE IN TOWN AND I'LL PROBABLY JUNK IT TOMORROW. SO...WE ONLY GOT A FEW CONTACTS IN THE LOG (MAYBE 200) BUT THANKS TO ALL. WE WEREN'T DOING THAT WELL ANYHOW, BOTH OPERATOR AND DRIVER SUFFERING FROM THE HEAT AND ALLERGY/COLDS.

- K8RYU/R

IT HAD BEEN SIX YEARS THAT WE DID A MULTI-OP AT K8T FROM JEFFERSON COUNTY SO WE FIGURED IT WAS TIME TO DO IT AGAIN. WE MISSED JOHN, AD8J, SO IT WAS JUST THE TWO OF US THIS YEAR -- W3NO & WA3C. THE NOISE LEVEL ON 75/80 WAS BOTHERSOME, THANKS TO ALL THE T-STORMS IN THE AREA, AND PROPAGATION ON 20 WAS UP AND DOWN, AFTER A REALLY NICE THREE-HOUR RUN WHEN THE CONTEST STARTED. WE ENJOYED WORKING K8MR AS HE HIGHTAILED FROM ONE COUNTY TO ANOTHER IN THE MOBILE. WE WORKED ALL STATES EXCEPT VT AND RI. COULDN'T BELIEVE NO ONE CALLED IN FROM EITHER STATE. LOOKING FORWARD TO NEXT YEAR. - K8T

FIRST OHIO QSO PARTY FOR ME. HAD A GREAT TIME.

- KA4AQM

I USUALLY HOST 5 OR 6 GUYS AND RUN MULTI OP AS K8YR. THIS YEAR I HAD FAMILY OBLIGATIONS AND ONLY HAD ABOUT A HALF HOUR AT THE END. IT WAS A GOOD RUN 25 QS IN 27 MINUTES S&P. 73 TILL NEXT YEAR - KA8SBI

ENJOYED THE ONE CONTACT DISCOVERED BY ACCIDENT - KB7PVU

GREAT QSO PARTY. WORKED EVERYONE I HEARD. ALL CONTACTS MADE WITH 160M DELTA LOOP @ 10'. THANKS TO ALL OPERATORS FOR ALLOWING ME TO BE PART OF THEIR LOGS. 73, JACK.

- KD5ILA

PLEASE ADD RTTY/PSK31 AS VALID MODES.

- KD8AJK

BANDS WERE "CHALLENGING" TO SAY THE LIST. HAD TO SWITCH COMPUTERS MIDWAY THROUGH, THEN WORKED THE EVENING PART OF THE CONTEST WHILE SWAPPING OUT THE HARD DRIVE ON THE STATION COMPUTER. I ACHIEVED MY GOAL WHICH WAS TO TEST OUT THE STATION FOR THE UPCOMING CONTEST SEASON.

- KD8MQ

WAS A FUN EXPERIENCE.

- KD8TIG

K3/10 AT 5 WATTS TO EITHER A 54' VERTICAL DIPOLE, OR AN 88' DIPOLE UP ABOUT 30' FED WITH LADDER LINES AND TUNERS. THANKS FOR THE FUN, AND C U NEXT TIME.

- KEOTT

THANKS TO MRRC FOR SPONSORING THE CONTEST! WEATHER SURE MADE IT INTERESTING. LIGHTNING AND HIGH WINDS WRECKED HAVOC IN THE AREA. FALLING BRANCHES TOOK OUT MY 75 MTR INV-V. HOW MANY HUSBANDS WOULD BRAVE THE LIGHTNING AND WIND TO REPAIR ANTENNAS? MY OM, KM8AM DID THAT FOR ME BEFORE HEADING OUT TO OPERATE AT THE LOCAL CLUB STATION. HIS POOR JUDGEMENT GOT ME BACK ON THE AIR WITHIN MINUTES... OFFTIME FOR LIGHTNING TO PASS. AGAIN, TNX TO EVERYONE RESPONSIBLE FOR THE ANNUAL OHIO STATE QSO PARTY!

- KM80

NOT THE BEST BAND CONDITIONS. MOST ACTIVITY ON 20 & 40 METERS. KEPT LOSING THE MOBILES. GOOD SIGNALS MOST OF THE TIME. BORN IN OHIO AND ENJOY THE RF VISIT.

- KN4Y

SAVED BY HARD TO GET/FIND MULTIPLIERS VIA EARLY DAY WEEDING THROUGH FOR TOUGH TO FIND 20M AND 40 METER CONTACTS WHILE I COULD GET SOME ADDITIONAL STATES. A HIGH NOISE LEVEL ON 40 METERS DIDN'T HELP. ALL INDOOR ATTIC HOA ANTENNAS AND RE-TUNED ALL EVENING

- KV8P

7TH OHIO OSO PARTY

- N1NN

SET UP TENT AND ANTENNAS IN THE INDIAN LAKE STATE PARK CAMPGROUNDS. IC7000, 3 ELE 20M BEAM, AND HALF WAVE 80M DIPOLE UP~25'. SETH GOT >100 SSB QS. N4HAI: ALL CW QS, N4DLR: REMAINDER SSB. GREAT CONTEST; HOPE TO WIN LOGAN COUNTY AND POSSIBLY SET A RECORD FOR MULTI-OP IN LOGA. 73 - N4HAI

WAS NOT ABLE TO WORK IT HARD THIS YEAR SINCE IT FELL ON MY BIRTHDAY BUT ENJOYED THE TIME I HAD ANYWAY. SEE YOU ALL NEXT YEAR!
- ND3R

TOUGH CONTEST WITH THE THUNDERSTORMS OPERATING FULTON COUNTY, OHIO - NE9km

HAD FUN, UNTIL THE STORMS.

- NI8Z

THANKS FOR THE QSO'S! IT WAS A FANTASTIC TIME. 73S FROM MILLER CITY, OHIO. - NO8C

73 DE TA4AKS

- TA4AKS

VERY CHALLENGING FROM COSTA RICA. EQUIPMENT ISSUES, WEATHER ISSUES, DIFFERENT PROPAGATION, BRIEF POWER OUTAGES ALL MAKE FOR A GOOD TIME!

- T18/AA8HH

QRP/P FROM AYLMER IS. (ON-295) - LOC. FN25BJ

RIG WAS FTDX5000 AND BUTTERNUT HF6V ALL-BAND VERTICAL. AN ENJOYABLE VISIT WITH OHIO OPS. THANKS TO ALL.

- W1END

OLD SOL SEEMS TO BE TAKING A FEW YEARS OFF BUT IT GIVES ME PRACTICE IN COPYING WEAK SIGNALS. GOT A LITTLE SIDETRACKED DUE TO A PILEUP JUST ABOVE THE OHQP AND I STILL NEEDED THE CANADIAN PROVINCE OF NUNAVUT. HAD A GOOD TIME WORKING THE OHIO STATIONS.

- W6NS

THUNDERSTORM ROLLED THROUGH ABOUT HALFWAY THROUGH; SEEMED TO CAUSE PROBLEMS FOR MANY PEOPLE. WORKED TWO PEOPLE FROM GERMANY, ONE FROM CZECH REBUPLIC AND ONE FROM COSTA RICA (TWICE). CONDITIONS SEEMED OK. MY VERTICAL ANTENNA IS CLEARLY NOT GOOD FOR IN-STATE CONTACTS. THANKS TO ALL WHO CAME BY. 73.

- W8JPF

PART TIME EFFORT.

- W8KNO

ENJOYABLE EVENT AS USUAL. THANKS!

- W8KVK

BASICALLY A SINGLE BAND CONTEST FROM MY QTH. THANKS TO ALL FOR THE Q'S, ESPECIALLY THE MOBILES. THEY DID AN OUTSTANDING JOB!
- WA3HAE

ROUGH START WITH SEVERE THUNDERSTORMS IN MY AREA SO LOTS OF QRN. - WB8YLO

2017 Ohio QSO Party - Saturday, August 26 Noon to Midnight EDST 1600z August 26 to 0400z August 27

Ohio Scores By County

N8YWX	3,366	ADAM	М	W8CAR	125,550	ERIE	Н
				KD8AJK	8,976	ERIE	L
K8CY	14,080	ASHT	Е				
KC8QDQ	61,912	ATHE	Н	K1LT	101,202	FAIR	Н
KC8QDP	30,690	ATHE	Н	KI8R	74,298	FAIR	L
WT8E	5,900	ATHE	Q	W8WZZ	4,698	FAIR	L
W8KVK	5,192	ATHE	L				
KE8EAS	15	ATHE	L	K8FAY	11,766	FAYE	Ε
				WD8PHL	156	FAYE	L
N8SDR	24,880	BUTL	Н				
N8OT	23,500	BUTL	Q	W8JPF	22,330	FRAN	L
K9NW	15,120	BUTL	L	N8CWU	14,800	FRAN	L
W8WRK	13,275	BUTL	М				
W8AJT	4,459	BUTL	М	NE9KM	638	FULT	Q
K8IKO	594	CARR	L	W8WTS	122,187	GEAU	L
				W8KEN	11,700	GEAU	Н
KM8Q	77,390	CHAM	Н	AC8RV	5,723	GEAU	L
N8BJQ	72,512	CHAM	Н	W8DES	1,736	GEAU	Ε
K8CR	18,000	CLER	М	W8DGN	35,868	GREE	М
AA8GP	5,278	CLER	L	W9RAR	3,978	GREE	Н
WA8KIW	14,536	CLIN	L	W8TM	70,760	HAMI	L
				N8BV	3,619	HAMI	L
N8VV	11,220	COSH	L				
				N8ET	1,640	HANC	L
K8ROX	60,248	CRAW	L				
				K8SRB	320	HARD	L
NI8Z	104,664	CUYA	М				
KE8G	95,616	CUYA	Н	N8JK	15,549	HENR	L
WA8YVF	7,571	CUYA	L	KC8TCQ	182	HENR	L
N8MPF	5,220	CUYA	L				
W8IDM	3,720	CUYA	L	W8OH	66,822	HIGH	М
W8PN	18	CUYA	L				
				KD8ORN	5,605	HOCK	L
K8MP	125,920	DELA	Н	N8BUS	2,424	HOCK	L
W8KTQ	111,136	DELA	М				
K8BTU	55,224	DELA	L	NF8O	125,280	HOLM	М
K8ND	42,987	DELA	Н		•		
N8BHL	16,020	DELA	L	KE8M	53,578	HURO	Н
N2OPW	6,200	DELA	L		,		
AC8VM	0	DELA	L	WU8R	38,628	JACK	L
					,		

Ohio Scores By County

K8T	343,580	JEFF	М	K4YJ	56,448	PIKE	L
				KC8IMB	4,752	PIKE	L
KE8ANS	12,075	KNOX	L				
KC8UR	1,176	KNOX	L	K8BF	61,404	PORT	М
				W8KNO	1,040	PORT	L
WT8C	49,833	LAKE	Н	KE8BWA	44	PORT	L
N8REQ	650	LAKE	L				
				AA8DC	2,210	PREB	L
W3HKK	18,172	LICK	Н	KA8SBI	575	PREB	L
W5UHQ	4,845	LICK	L	K8YR	9	PREB	L
NR8U	3,196	LICK	L				
				NO8C	27,722	PUTN	L
N4HAI	13,284	LOGA	М	N8RAC	8,791	PUTN	L
				KD8TIG	483	PUTN	L
KW8N	279,210	LORA	Н				
				WX8G	48,118	SCIO	Н
K9TM	20,076	LUCA	Q	N8YN	4,480	SCIO	Q
W8IQ	17,920	LUCA	L	W8ENO	888	SCIO	L
WB8YLO	13,452	LUCA	L				
KV8P	8,645	LUCA	L	WB8JUI	23,313	SENE	L
W8RF	3,420	LUCA	L				
KB8KLK	72	LUCA	L	K8EMA	3,060	SHEL	Е
W8DPK	10,419	MADI	Н	W8RGE	9,860	STAR	L
N8GU	3,255	MADI	Н	KD8MQ	7,564	STAR	L
KE8RV	143	MADI	М				
				AK8H	4,800	SUMM	Н
KC8RLP	3,392	MARI	Н	AB8OU	1,702	SUMM	L
				KA8OAD	1,248	SUMM	L
K8NVR	98,596	MEDI	L	K8ZT	1,170	SUMM	Q
K8MAD	16,140	MEDI	L				
W8EOC	2,550	MEDI	E	K8MLT	5,684	TUSC	L
AC8E	1,870	MEDI	L				
W8TAH	1,350	MEDI	L	KE8EWY	3,811	UNIO	Ε
NS8O	4,650	MEIG	L	N8PCN	8,816	VANW	Н
				KC8YKQ	2,494	VANW	L
AE8I	1,785	MIAM	L				
				N8UVM	2,360	VINT	L
K9CAV	8,060	MONT	L				
W4YPW	1,457	MONT	L	K8PI	61,750	WARR	М
N8DRG	130	MONT	L	AJ8B	60,544	WARR	L
N8MWK	4,182	MORG	Q	KR5N	1,452	WASH	L
W8JH	7,810	OTTA	Q	K8AJS	29,880	WAYN	L

Out of State Scores By Area

W1END	1,728	NH	L	AD8J	11,492	NC	Н
N1NN	1,178	MA	Н	WX4G	9,063	FL	Н
K8CN	600	NH	Q	K4YND	7,950	VA	Q
N5WVR	49	VT	Н	KM4FO	5,320	KY	L
				WA8OJR	5,148	SC	L
K2ZR	15,614	NY	L	KN4Y	4,712	FL	L
W2RR	10,200	NY	Н	K4ORD	4,690	VA	L
N2CQ	3,920	NJ	L	K4BSK	3,762	NC	L
K2MV	2,720	NY	L	K0LUZ	2,856	FL	Н
K2QB	2,668	NY	L	K0ZR	2,754	VA	Н
W3PR	2,479	NJ	L	AB9CA	2,592	AL	L
W2UDT	1,950	NJ	Н	K4WDR	2,583	GA	L
K2CYE	1,540	NY	L	N3CKI	2,482	VA	L
W2GR	1,378	NY	L	KG6MC	2,380	SC	Н
KM2L	1,122	NY	L	KC4ZA	1,968	VA	Q
N2SO	476	NY	L	N4DW	1,872	TN	L
W2VM	50	NY	L	WG8Y	1,224	NC	L
AC2RJ	8	NY	Q	K4WW	1,176	KY	Н
				W4DUK	1,026	VA	L
WA3HAE	35,164	PA	L	K8ARY	1,008	SC	L
W3CQB	15,169	PA	L	AF4RK	798	FL	Н
NA3V	8,792	PA	L	W4JUU	714	TN	L
K3WJV	8,460	PA	Н	W4FF	644	FL	Н
K3URT	1,320	PA	L	N3KN	589	VA	Н
ND3R	280	PA	L	K4AMA	560	SC	L
KE3ZT	156	PA	L	K2PS	525	FL	L
WA3AAN	72	PA	L	N8PPF	500	NC	L
KC3ASH	25	MD	L	K2KW	495	VA	L
KA3PMW	1	PA	L	K4VBM	459	GA	L
				N4LZ	450	FL	L
KU8E	40,480	GA	Н	NA4K	442	TN	L
WN4AFP	19,006	SC	Q	KA4AQM	340	VA	L
K4MM	15,477	FL	Н	KI4FW	242	VA	Q
K3TW	12,870	FL	Q	KI4MZC	198	GA	Q
K4BAI	12,376	GA	Н	NX4N	126	FL	L

Out of State Scores By Area

NS4X	104	TN	Н	AC7T	5,904	WA	М	K0RI	27,679	СО	L
KM4HVE	81	TN	L	K6DGW	5,904	NV	H	K0AMC	10,164	MO	M
W4WNT	77	NC	L	KJ9C	5,109	MT	'' H	K0TC	4,884	MN	L
K4WLG	49	KY	L	WC7Q	748	WA	H	KE0TT	4,680	MN	Q
K4WLG K4SBZ	49 25	FL	Н	WO7Q WN7Y	192	MT	M	K0MPH	4,551	MN	L L
AB4TT	23 9	GA	L	W7GF	160	OR	L	N5PHT	1,344	MO	L
KT4LS	9	GA	L	N9NA	128	AZ	Н	AA0A	1,344	MO	Н
W4VG	8	VA	Q	KB7N	40	WA	L	K0RJW	806	MN	H
NU4M	_	GA		K1AUS	40 25	MT	L	KD0CVZ	567	MN	
	2		L								L
WD8OUX	2	GA	Q	AB7WP	1	AZ	L	N0AC	480	CO	L
\\\\ 0.7DT	40.000	TV		KE6FNQ	1	OR	L	K2HT	408	MO	L
WA8ZBT	10,229	TX	L	WM5F	1	ID	L	NODOW	294	MN	H
WA5SOG	10,010	AR	L	1/000	40.000			WAOTTS	238	MO	L
WE5EE	9,971	LA	Q	K8CC	13,200	MI	L	N0KTK	169	MO	L
N9NM	6,240	TX	L	K8BKM	4,896	MI	L	KD0HTS	81	CO	L
W8FN	3,864	TX	L	N8EA	4,800	MI	L	WB0IWG	72	ND	Q
KD5ILA	1,080	AR	L	WN8P	4,200	MI	L	W6NF	32	MN	L
K5HP	672	TX	L	K8GT	3,910	MI	L				
KJ5MA	667	TX	Н	NF8M	1,984	MI	L	VA3EC	792	ON	L
VO8W	570	TX	L	W8CAG	1,296	MI	L	VE7JH	384	BC	L
K7ZYV	544	MS	L	W8JRK	540	MI	Н	VE2GT	224	QC	Н
NM5Z	496	MS	Н	N5MKY	36	MI	L	VA3PCJ	135	ON	Q
W5/MM0LID	340	TX	Q								
NM5WB	270	NM	L	K9OM	58,308	WI	Н	TI8/AA8HH	4,978	DX	L
KC5DCT	36	TX	L	WO9B	7,350	WI	L	DK2OY	4,444	DX	Н
KB7PVU	1	NM	L	WA9LEY	4,026	IL	L	DM5EE	3,780	DX	Н
				K9SE	2,450	IL	Н	SM5CIL	1,144	DX	Н
KM6I	494	CA	Н	KG9JP	1,715	WI	L	YU1RA	50	DX	L
W6NS	220	CA	Н	NS9I	1,440	WI	Н	S58MU	28	DX	Н
K6KQV	91	CA	L	K9PG	1,274	IL	L	TA4AKS	1	DX	L
WZ6ZZ	36	CA	L	W9PRS	660	WI	Q				
KQ6P	25	CA	L	W9TC	144	IN	L				
				N9BT	121	IL	L				